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25,0009 X 107}78 % 23]= ’
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1.3%$9n) 1,100 0 0[QAAEA F+u] 1,100,000 X 13]= 1,100,000
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LEAAgaREA | 1000 . o (4BRWAE 2 Wels) A 200,000 000,000
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(AHA)AZEY S v FE Y]
5.8 & 7eu 3,000 0 0 3,000,000
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4. 3088 5FA st 9 (H) 10,000 0 0
AEA)FdstugaE 2y A4 xU)]
1.Yuksegn 3,602 0 0 < 1,000,000
A8l 100,000¢1 < 103]=
APA) A TEH] 2,602,0009] X 13]= 2,602,000
(g AHE sl 2 7Ed S AFA]
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3. &S| 4,000 0 0 Ef’%?ﬂ)ﬂm HerAE =gl 1,000,000 1,000,000
A x13]=
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A BEZF NG W& F
4 M) E7em 398 0 0 N o 3,000,000
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&= Z AL 3l S-H] 3 oln
“’]’—ueo'&'d—w‘-‘t RIUEST ]E‘ ?—H ] _2,602,000
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5.9 & A4 | 300 0 0
1. olukg ] 300 0 o A RS A ]I 100,00091 23 300,000
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1. w25 1,300 0 0
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1. 05890 1,300 0 0| ASE&ETY  500,0009 x23]= 1,000,000
Z+E) 3 &A1) 100,000 < 33]= 300,000
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1. gt a 3} 150 0 0
1. 580 150 0 0|F otz EH] 75,0009 X 23]= 150,000
2. 5952793 800 0 0
1. 05890 800 0 0|thal &= 2 egn] 800,000 < 13]= 800,000
5.9 =t 3 5,980 33,118 -27,138
1.3 980 0 0
1.5 gH| 60 0 0]gAAFA=T 30,0009 x23]= 60,000
2. &= 920 0 0 Efgj:ﬁﬂ%ﬂEi =AHl 40004 920,000
2. 527 Qo1 B AE A (TalK)| 3 2 3,208 3 0 0
1. o)tz ) 3.200 0 o (BHATALK X223 & GH] 1,600,000 3,200,000
Ax2Y=
3838 T dous & 1,800 0 0
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2. 0 &-f-g ) 3,340 0 0|XS8EH] -700,0009 X 13]= -700,000
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3.7 ugEs 4,000 0 0
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6.3+ 5 2,605 0 0
2,605 0 03] B 4,2109 X 2509 X 23]= 2,105,000
A3 Pelsn] 50,0009 < 103]= 500,000
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47,000 0 o| FHTRFHE 24 25,000,008 1 25,000,000
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J:L% TR g Ed] B 79 100,000 2,500,000
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2. A5 14,850 0 0|18}7] @d3kEn] 550,0009 X 158H3= 8,250,000
287] &7sku] 550,000 x 128 += 6,600,000
2,58}l 9 11,250 0 0
1.994] 750 0 0| AL H] 38,0009 X 51= 190,000
Q1< uALeIB] 140,000 X 48 = 560,000
2. 5G] 10,500 0 0|5=3ted s8] 20,0009 X709 = 1,400,000
sghed 3 H] 130,000 X 70 = 9,100,000
3.49Ad #g AFAASE 1,000 0 0
1. 05 H| 1,000 0 0|(dHH)ALFH 270,000 x 2th= 540,000
(A "E)AH 3,500 x907)= 315,000
(A=) zk2m] 2,900 < 5071= 145,000
3. 5ol EE 3,990 4,200 -210
1.gduAx=238 F5(5) 3,990 0 0
1. 0529 3,990 0 0| (AHA)EF 41 5,000 X 3997 = 1,995,000
(;iz‘zd)ﬂm%ﬁ 2 Fdln] 399,000 1,995,000
4. QA 7eE 2,470 600 1,870
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2. A 2w 1,750 0 0
12943 550 0 0| ZAF ZAE  110,0009 x5 = 550,000
2. %9 1,200 0 0|XZA% Al=H] 10,0009 X 1207 = 1,200,000
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cZga X 5T 73 L ]
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2l o) 2=t 3l Al tH =} o]
18 9o 51.600 0 ¢ =8k A ul-H] 20,0001 <307 <12 7,200,000
2=
Z=ALOFAL 3 A 3L H <307 X
:LHL A DLTH] 20,0009 X307 X 12 7,200,000
2=
a} WA RLFE] 10,0009 X 30T < 129= 3,600,000
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_Uvi A RTH] 10,0009 X309 X 129 3.600.000
Hlol L@ 7AW ILH 2] ko3|
J} 122 WA RTH 10,0009 X 307 X 12 3,600,000
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= 3L oA W Skn < ]
EE‘]]Z]&O d nARF-H] 10,000 <60 7,200,000
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__—’-_OZ_JJ_E WA RTEE] 10,0009 X307 3,600,000
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0(30 A 4] 10,000 307 <12 3,600,000
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2 Hgo Aty 2
EELRRAT AT 20,0009 x50 12,000,000
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3.5 FAAFAL A7 5,097 0
1. 571 A1 k4 Q171 1] 4,563 0 (AEA)F] 668,0009 x39= 2,004,000
(AEA)F (584,330 xX3¥)+109= 1,753,000
(A-A)FAH 130,0009 x3€= 390,000
(AAEA)FAH 130,000 x349= 390,000
(AEA)AIZEE 26,0009 X 1H= 26,000
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A A A7FE A & = e ™
2. AN 8 F 7,200 0 0l (dHMAYI . 720,0009 X 103]= 7,200,000
3. A 282 0 0(AHA)AEFE T8 70,5009 x43]= 282,000
5.EQAN = 2o (&) 1,680 0 0
12959 1,680 0 0| (4 EA) A 30,0009 X 2A] 7Fx 28F= 1,680,000
2. 55y 44,256| 54,400 -10,144
1.EEudeYy 28,080 0 0
1. 4R 28,080 0 0|58 A9 n] 2,140,000 X 129= 25,680,000
SAEFE FAH 200,000 < 12¥Y= 2,400,000
2. =5 ATAL 1] 16,176 0 0
1. 5771 Al k2 Q171 H] 13,903 0 O (A HEA)7| T 821,350¢) X218 x3¢¥= 4,929,000
giigiﬂ%% (821,200¢) X274 < 34 4,927,000
(A EA)F24H] 130,000 < 2 X 39= 780,000
(A HH)F2H] 130,0009 <29 X 39= 780,000
(AHF)nERZH 60,0009 X2 X3¥Y= 360,000
(BEA)LERZH] 60,0009 27 x39= 360,000
(AEA)7HE54T 40,0009 <278 X 3= 240,000
(BHAZFEFT 160,0009) < 27 X 39= 960,000
(AHFA)A 71495 225,0009 X278 = 450,000
(BEAAFTZS4E 116,6409 X 19= 117,000
2. 55 H A 800 0 0| (4 HA)BEEF EA0] 400,0009 X< 278= 800,000
iiﬂﬁl%&%%%% 1.473 0 0 (;iﬁg;g_i@ 7)dRE 127,8309 767,000
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(X*izzzd)wliﬁ 71gE-dE 353,000 706.000
EAEE 13,440 11,246 2,194
1.5AZE5EY 13,440 11,246 2,194
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A=A BAL S5 1,500 0 0
(A F) st A T -1 2 F AL E 1
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A e A 6,000 0 0
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A X350 =
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T 2 FHAEAn 4 x1019 x
e 4,000 0 0 g_ﬁ > £A34¥ 100,009 <1078 x4 4,000,000
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15 dkagel - 2019-06-27




20198 A= A& o AHH A A

F7418) () A9
A4
Ad = H] ol = il =
aue |05 23 A2 2 ()
Al - | A -3 A5 A n) & o o
1.3t A 7 o] & 31,185 0 0
1,717k 2 4 21 741 29,081 0 071853 764,7309) <27 x 127] L= 18,354,000
F2H] 130,000 <29 x 1271Y= 3,120,000
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1.0Fd 05 2,645 0 0
1.+943 150 0 O[erAS ZFAM] 150,000 X 13]= 150,000
2. 1529 2,495 0 Ot €9 50,0009 x13]= 50,000
SbA &A1 500,0009] X 3th= 1,500,000
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L F7413] (9 - H)
el
Ad = H] ol = 1 =
aue |05 23 A2 2 ()
S| AR | A g A5 AN & = ° =
1.A7stued 10,360 21,600 -11,240
1o FHzs &9 3,360 0 0
1. 05890 3,360 0 0] (A Ex)xkEH] 560,0009 X 63]= 3,360,000
2.5218hd &9 7,000 0 0
A1 3 %])38kd & Ak ZFALH e
1.&943 2,040 0 0 (X‘;ﬁ];i;;; wehd Al 52,0009 1,920,000
(d7d)sshd salshd Akl 30,0004
9] b 23 120,000
AEA)3shd galshd wytdE A de
2,305 & v] 4,960 0 0 é;(’)gogzlfi;ﬂ Halehd EaAA A 2,080,000
5 sl =
("é%‘%ﬂ)Bi}@_ HAalshd W A 3 2 880,000
480,000 X 63]=
BEA YA 8,450 11,080 -2,630
1.5 1,000 957 43
195489 1,000 0 0
HpA Al EL3E o] |l Z=x] % x)n
1wk 1,000 0 0 0‘3;; = TS AR 200,000 1,000,000
2. 4139 7,450 10,123 -2,673
1.8 0 g R 3ax Y 7,450 0 0
o]l Al XA E oln 9]
1.k gu) 2,800 0 0 j]:fa =ZUE B9 T 20,0008 %25 500,000
AP Z-E By 98] 70,0009 <10 200,000
7= ’
AEE FYH] 200,000 < 13]= 200,000
A4 ARE7)7] A RSH 200,000 200000
X 13]= ’
AFE 2 B5H) 100,000 X 129= 1,200,000
A T E oly Ko}
2. 05K 2,300 0 0= % 1= 79l 20,0009 %507 1,000,000
iﬂg ZAE B FY9H 70,0009 X 1071 700,000
2T Eg o} du] 400,000 X 13]= 400,000
mg‘ AR3717] FA RS 200,000 200,000
X 13]=
3. 833901 2,350 0 0[AFE 794 -1,400,0009 < 13]= -1,400,000
AFE YU 1,000,000 < 3th= 3,000,000
ZHE F9H] 150,000 X 5t)= 750,000
.1l 0 9,155 -9,155
5l 0 9,155 -9,155
17 ey <l 2019-06-27
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F7413] )
o arey | A= HE2(H)
ARBE  ANEANE A | S

165,931 177,717| -11,786
=9 41,675 37,344 4,331
A7) 41,675 37,344 4,331
1.0 FA 8- 8,500 0 0

1.991] 8,500 0 O|F ) Eden] 25 0009 X209 X 173]= 8,500,000
2. gAY 10,550 0 0

1.994) 1,600 0 0|1 Z ol 40,0009) < 403]= 1,600,000

2. 4Nk E30m] 5,806 0 O/uidl Holg oha 791 120,6009 < 103]= 1,206,000

wAY 3 450,000 X 63]= 2,700,000

w2 el 39 v 9 200,000 x43]= 800,000

A A 50,0009 < 123]= 600,000

st Aen] 50,0009 %< 1038]= 500,000

3. A ANFYF-F7)] 3,144 0 0| A AFGFF21] 262,0009 X 129= 3,144,000
3.} 13,912 0 0

1. dWkEgn) 11,082 0 O|AFE&3FH] 450,000 X 23]= 900,000

EUTYH 100,000¢ X 3% X53]= 1,500,000

EAREA 9] 600,000 X 43]= 2,400,000

A AEE FYH] 400,0009 < 33]= 1,200,000

AR-E-7] 7] A BaH] 120,000 X 33]= 360,000

B2 kR 301,0009] < 129= 3,612,000

rYPETER 250,0009 X 43]= 1,000,000

AP 4] 110,000 X 13])= 110,000

27183 F2F 150 0 O|AARZFRIRE 150,000 X 13]= 150,000

3.1 2,200 0 0| ZH e Eoin] 22,0009 X 258] X 47g= 2,200,000

4. FA QB2 1) 480 0 0|54l H]  8,000¢) < 3% < 203]= 480,000
4. 9] F 751 8,713 0 0

1AM 8,713 0 0|ZtERFTYH] 5,713,000 X 1%= 5,713,000

ZFENETY ] 1,000,0009 X 33]= 3,000,000
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o 2 713 (k9] )
o A | DU BE712(R)
49w | AY ARZE QAEANE A | S

2. A4 A {A 121,946| 137,123 -15,177
1.8k Al ) 6% 121,946 137,123| -15,177
1. 58 TLA AT 45,056 0 0

1. g9 200 0 0| ARG o] &5 = 20,0009 X 103]= 200,000

2. 4718% 30,000 0 0|47l 87 2,500,000 x 12Y= 30,000,000

3.4 R 7,200 0 0|3 EE 600,0009] < 129= 7,200,000

4 NEEE T 7,656 0 0[9-#E 30,0009 x103]= 300,000

AsteF 200,0009] X 12€= 2,400,000

STE I EAIH] 400,0009 X 12Y= 4,800,000

S 13,0009 < 129= 156,000
2. A1 gk v 18,760 0 0

1. 49| 18,760 0 0|22 afH] 60,0009 X 13]= 60,000

AA#E A2EF 100,0009 X105 < 33]= 3,000,000

Al AR 244 5,000,000 X 23])= 10,000,000

Ay Yr] AF 2,000,000 < 13]= 2,000,000

Atz AN 500,0009 X 13]= 500,000

_%owggxdxg@%oq;; 100,000 X 124 1,200,000

;%;/\]’é% P& 2,000,000 < 1 2,000,000
3.9171EA 1,600 0 0

1.8k 81| 1,600 0 0= 71& 2] 160,000 < 103]= 1,600,000
4.9 7 30,590 0 0

1.717H A A 178 25,977 0 O[tHAI1E 17u] 51,180 X 11 X 17YU= 871,000

71E T 1,523,880 x 19 x 1270 Y= 18,287,000

NFFALD 76,3809 x 3= 230,000

FAH] 130,0009 X 17 X 1274 €= 1,560,000

HAF7IRAF  500,0009 X 17 X 23]= 1,000,000

AxFd 49,9609 X 17 X 26 = 1,299,000

HAF 2,729,8509) < 1= 2,730,000
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F7413] (9 - H)
A4
Z] 4 H| ! -
aue |05 23 HE2(9)
A5 | Al -8 A5 A n) & o o
ILo] An|Lead L X)) E o
2. luk4 ] 3,120 0 o TUABHEAREEAA) 260,000 3,120,000
X 129=
3. EEHEAN| 400 0 0|23 0] 200,0009 X 17 X 23]= 400,000
ZhA A o] ¥ Hook 3 7| E ol x 11
iyhxﬂjf_ﬂ SR A= 1 093 0 0 z; BY Z]@REE 91,0709 < 19 X 1270 1,093,000
A= —é:
5.8 500 0 0
1.5 500 0 08 59 500,0009 X 13]= 500,000
6. A1 2] 89 5,040 0 0
1. ddk58-1) 5,040 0 0| A7]ekdze] 89 240,0009 < 12¢= 2,880,000
2 A TE] 29 180,000 X 12¢= 2,160,000
7. 7RSSt E 7| 19,400 0 0
1. 571 Al k= 4171 H] 16,838 0 07123 928,9409 x 1 x 127) Y= 11,148,000
F21H] 130,000 < 11 < 127) L= 1,560,000
WAFR AT 500,000 X 14 x23]= 1,000,000
B AT 2,054,0009 X 1= 2,054,000
Axb 41,3509 X269 = 1,076,000
2. 712 A4 L4170 710 0 O|thAIE 78] 41,7509 X 19 X 17 = 710,000
3. 953 5] 400 0 0| ZEHEFEX A 200,000 X 17 X 23]= 400,000
iiﬂﬁ]%ﬂ%%@—‘?— 1 452 0 0 4YHOE§§ Z|HEGE 121,000 X 19 X 12 1,452,000
j=lh=1 M=
8.344 1,000 0 0
3L AF =] W Bl RFA] E3E o] °
1.qk5=gu] 1,000 0 ofF2X % #Ed 2% 74 250,004 1,000,000
X 43]=
W 3 2,310 3,250 -940
1.gug a3+ 1,000 1,000 0
1.8 0993 1,000 0 0
1.099)] 100 0 0|Zoln] 25,0009 x<48= 100,000
2.4y -1 900 0 0|8wed993s 7t 100,0009 X 9= 900,000
2,87 23< 1,310 2,250 -940
1.8 7 535 8o 1,310 0 0
1. Yk=81) 700 0 0352391 70,0009 X 10%= 700,000
2.9 1] 250 0 0/ &&oH] 25,0009 x103]= 250,000
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47 #713) (9] = A9)
e ey | U= HE ) 2(5)
A4 9y | A% AR AEANE dde ) =&

3. g -1 360 0 0t s] o3 180,000 x23]= 360,000

gl A g 1,500 0 1,500

1. n]H] 1,500 0 1,500

1. n]H] 1,500 0 1,500

1. ov) ] 1,500 0 0
1. n]n] 1,500 0 0|\ H] 1,500,000 X 13]= 1,500,000

A= 1,195,065 1,246,086 51,021

s
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